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5<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

IRIE Y Q2F-12><2> B8 (25
S-P-F ER§E2§Rk 2-210
Y3@Y X1~X0
1 2 3 4 5 7 8 9 10 1 1213

1194.3 / 1194.3

6113.1 / 6113.1

‘ A782,=3640.0 mm

|
A/N2=910.0_mm ‘
BER / =hAaAEN

1D[113.8] 211.6 / 139.1
2) [455.0] 423.1 / 218.2
3)[910.0] 799.9 / 655.0
4)[1365.0] 423.1 / 278.2
5) [1820.0] 423.1 / 278.2
6) [2275.0] 423.1 / 278.2
7)[2730.0] 423.1 / 278.2
8) [3185.0] 423.1 / 278.2

9) [3526.3] 211.6 / 139.1
10) [3753.8] 211.6 / 139.1
11) [4095.0] 423.1 / 278.2
12) [4436.3] 211.6 / 139.1
13) [4550.0] 2699.6 / 2699.6

%2) (LBIBER / fzhHRAN)

[ AMT] Fs=1.8N/mn"2 , Kd=1.10 , Kz=1.0
1.5 x 6113.1(Q)
~ 17860.00(A)

BEL =051 .~ 0.66 =078 < 1.00

T = 0.51N/mm"2

(B 1F] Fb=21.6N/mm"2 , Kd=1.10
2841649. 8 (M)
699510.00(Z)

BEHE =406 . 539=07 =100

, Kz=0. 68

= 4. 06N/mm"2

fs = 0. 66N/mm"2

-« OK

, Ks=1.00
fb = 5. 39N/mm"2

-« OK

[f=to#H] 1=8219.3 , E=960.0 kN/cm"2
HBEHAE = 0.91 em(R/2D 1/ 400) A2 1.00 cmd T
JATzb#HE = 0.0500 cm
0.0500 .~ 0.91 =005 =100 - -

[FHR122514595)

HR-HAE = 1.46 em(R/8 2D 1/ 250)emBL T
BAf-b#HE = 0.1933 cm
0.1933 .~ 1.46 =013 = 1.00 - -

+OK

+OK

[iZtadi L]
HBREbHE = 0.46 em(R/82D 1/ 200) A2 2.00 emd T
mAf-HHE = 0.2613 cm

0.2613 ~ 0.46 =057 = 1.00 - - - OK
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RIE Y 2F-27>

140E 1%%65V-55H 410

Y8@ L) X2~X:5.5

MR Y D&

w=2186. 1N/m

L=3185.0

EAERE V0=34. Om/s, 3R EAHE X 5 T
BEYOBET]. Tin, FFOFE5. Tm, (LY DE E3. 24m
W=848. 97N/m2, W=q x Cf, g=931. 2N/m2, Cf=0. 91, Kz=0. 89, L& R {F1g=2. 45m/2, & R {F18=2. 70m/2

w=Wx R{F1E=848. 97 x ((2.45+2.70)/2)=2186. 11

[ AMT] Fs=3.6N/mm"2 , Kd=2.0 , Kz=1.0 , Q=wl/2
1.5 x 3481.4(Q)
~20915.00(A)

BEH =025 - 240=010 < 1.00 - - - OK

= 0.25N/mm”2 fs = 2. 40N/mm"2

(B 1F] Fb=39.0N/mm"2 , Kd=2.0 , Kz=1.00 , Ks=1.00 , M= (w xL"2) /8
2772045. 6 (M) - R
o = = 8.94N/mm"2  fb = 26.00N/mm" 2
310230.00(Z)

®EHE =894 7200 =034 =1.00 - - -OK

[f=4>#&] 1=1380.6 , E=1400 , &=0GxwxL"4)/(@84xEx]I)
HEREDLAE = 1.59 ecm(R/x>® 1/ 2000 m™D 2.00 cmATF
RKXf=bHHE = 1.5155 cm
1.5155 1,59 =0.95 = 1.00 - - - OK




